111-115 58 15 9
) ( )
(¢ )o )
700
600 |
~ 500 [ A PV«VJA
3 400
= 300 AW
1 © 200 |
- 100 | N
0
462gal  300gal X 0.01 01  sec 1 10
2
1 1
( )Vs=90m/sec -6 -10
() Vs=460m/sec 3
G )
7 ) 2
0.4 2.0t/m?
Vs 448_.4m/sec 50
1
=90m/sec -6
Vs(m/sec) (t/m°) (%
20% 50m 0498 90 1.56m 2
5m 3 0.454 460 1.9 2
3 kN/m? (%)
0.2 2.5E+08 5
m (m) kN m
3 3 8 8.1 1942 0
0 19 7 8 20.2 4532 2
20 GL-10m Vs
3 0.19 60
GL-6m Vs
20% 50m 5m
108-8548 3-9-14

TELO3-5476-3048 FAX03-5476-3166

-229-




111-115 58
50 0.43
4
0.47 15
0.43 3
3
0.19
0.1
12 0.1
12m
0.1
5
3
0.19
25
6 2% 5% 15% 20%
6
7 Vs
20
Vs
3
15
Vs

1999.

-230-

40
35 r
30

m/sec?

25
20

15 + ;5_‘,_,_d_——’*<___——“~

10
5t

/ 20%

T 20%

0
0.16

3

Vs=90m/sec

018 02 022 024
sec

GL-6 3

50
45
40
35
30
25
20
15
10

5

m/sec?

0
04

045 05 055

5m

50m

18
16 |
14

m/sec?

12
10

» o o®
T

5m

0.16

0.18 0.2 0.22 0.24
sec

12

—— Vs=90m/sec
GL-6m
r 3

50m

I I I I 12m

2% 5% 15%  20%
( 2%)

54

Vol.44 No.5 pp.9-12.1996.




